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1. Do as directed. - % x 12 = 6 Marks
a. 87,450+ = 87,451
b. 45,757+ = 45,757
¢. 100 more than 45,230 -
d. One lakh more than 4,35,006 -
e. 45,000 +1000 | | 45,100 (Put in the correct sign >, <,=)
f. 30,00,000 + 40,000 + 7,000 + 30 =
g 2, 50,123 - ( Place Value of the underlined digit)
h. 3,5,0,2,7 - ( Greatest number formed by the given digits)
i. The successor of the greatest 6- digit number -

j- The predecessor of 30, 783 -

k. The Roman numeral for 35 -

. The Hindu Arabic numeral for XIV-
2. Write the numbers in words. 1 x 2 =2 Marks
a. 54, 30, 230

b. 826, 082

3. Write the numbers. 1 x 2 =2 Marks

a. Two lakh twenty thousand five hundred thirteen-

b. Ninety three thousand six hundred -




4. Write in expanded form. 1% 2 =2 Marks

a. 35, 569- At
b. 1, 04, 006~ RO
5. Write the standard numerai for the given expsnded form. Ix 2 =2 Marks

a. 30,00,000 + 20,000 + 5,000 + 900 + 20 =

b. 8,080,006 -+ 30,0600 + 6,060 + U6 =

6. Rearrange the following numbers in ascending order, 1 Marl

2,34, 304 2,34,403 2, 43,304 2,43, 403

7. Find the suim of the following. 1 X2 =2 Marks

a. The smallest 6 digit number and the J‘ %-3'; 3% 45,123 and 45, 605

largest § digit number.

8. Read, think and solve the word problem. 3 Marks

a. A shop has 34,320 bags of wheat, 25, 224 Lags of vice and 12, 832 bags of sugar.

How many bags were in the shep?
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